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ZOOLOGY

(Honours Generic/Regular)
Paper : 200-HG-4016/Z00-RC-4016
( Genetics and Evolutionary Biology)
-Full Marks : 60 '

Time : Three hours

The figures in the margin indicate

full marks for the questions.

either in English or in Assamese.

-

Answer

FIRST HALF

1. Answer the following : (any seven)
1x7=7

Wﬁmw@@ﬁms(ﬁmqm)

() What is epistasis?
- aficefr e
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(i)

(iit)

(iv)

)

(vi)
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What is allelomorph ?
afeeTf /e

What is chromosomal theory of
inheritance ?

IfeT T T 2

What is co-dominance ?

TZ-geidrel Fe

At what stage does crossing over occur

in meiosis ?

'gpwmasﬁﬁwaaﬁ-e¢Frnﬂﬂsﬁ§a13ﬁhnr§g?-

What is sympatric speciation ?

Bellie ik e

(vijj What is mass extinction ?

sz R e

(viii) Who postulated the theory of ‘Natural

selection’?

‘oo RIbT TSI (AT SPRIRT 2

(ix) What is bioclast?

s B2

2

()

The scientific name of Cro-Magnon Man
is

TGO MR (RIS AN A |

Answer any four of the following :
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2x4=8
Ricercat 4519 ©ex i
Write the difference between :
Ay Bl ¢
(i) Genotpye and Phenotype
T o el
(i) Recessive lethals and Dominant lethals
TSR ST SF ASR! T
(iii) X-linked gene and Y-linked gene
- X om uie Y- oW
(iv) Mendelian inheritance and Cytoplasmic
inheritance
| CToeaTt i @i i et aeeiolfs
(v) Complete Jlinkage and Incomplete

linkage
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J

(vi) Interference and Coincidence

BCFA I TR

(vii) Somatic mutation and Germinal

mutation

AT BARTE T TR TR

(viij) Continuous variation and

Discontinuous variation

wiffen 2R SiF Riew aiiRe

Answer any three of the following :

)

(it)

5x3=15

were A e R fofbe s o ¢

What is extra-chromosomal inheritance ?
Write about the important features of
extrachromosomal inheritance.

ey IS [ e afRserentig It
U SRR R fomi

Write about the incomplete linkage of
Drosophilla melanogaster with suitable

diagram. , 1+4=5
Toge o TITS T NRT Srsief TeTaoR
R o
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(i)

(iv)

(v)

(i)

(vii)

What is speciation ? Write a note on
the limitations of biological speciation.

| : | 1+4=5
AEfes TuRe e [ o e ok awife
4T ARTOR evive @ Gret |

Describe the modern theory of
evolution.

GRA Besifer Sy weaims REw 39 11

Write a short note on human evolution.

TR FARIR @oige aff 55 Gt Frin |

What is pleiotropic gene ? Describe the
phenomenon of pleiotropy with suitable
example. 1+4=5

rergie B e Soye Swima wzwe
el ARG 3 = |

What is multiple allele ? Write the main
characteristics of multiple alleles.

2+3=5
IR 31 3= fee I s ot 2 IR A T2
<R T SRz frat

(viii) Write the characteristics of modern

horse. 5
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(v) What is mutation ? What are different
types of mutation ? Describe the
consequences and significance of
mutation in animal life. 1+2+(3+4)=10

SECOND HALF

4. Answer any three of the following : ]

10x3=30
wTR [ forbT Tl Bl 2 BeoifRer 3fereet R gt » Rifem erpie BeoiRasT-
| | g & e TR eote BeoiRada der
(i) Describe the role of extinction on : I SRR I W
evolution. o ’ :
(vi) Write about the principles of genetic
FaRere Refee ehier R 3 1 mapping. |
(i) What is macroevolution ? Describe the TR MA@ wfo Mo R i1
principles and mechanisms of macro- :
evolution. 2+4+4=10 (viij) What is linkage ? Describe the
. . mechanism of linkage. Write about
3‘222? for ki R e ot wrato - the_ significance of linkage. 2+5+3=10
| N | Tl 2 STRETareI aifdm <Al < | el
(iii) What is genetic variation ? ]‘Descrl.be.the SFPRR fordl | |
types and sources of genetic variation. _
2+4+4=10 (viii) Enumerate Darwin’s theory on
‘ evolution. Write the difference between
2o 2R R? oW SRR PR W% SR - Lamarckism and Darwinism. 5+5=
Rac I 3101 | . 5+5=10
| . . | - RS FE OISR /Sl 39
(iv) What is fossil ? What are different types ; WWWWWWmW%W
: of fossil ? Write a note on formation of i
fossil. 1+3+6=10
Srap R RiSw 2o Sarpn B R e S | -
1o oS it Bt T |
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